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Level 1

If T take 5 away from a secret number
and then double the answer I get 8.
What is the secret number?
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Level 2

Jesse counted a total of 15 bicycles
and tricycles at the park. If the total
number of wheels was 36, how many
tricycles were there?
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Level 3

One half of a pole is in the ground,
another 1/3 is below water and

four metres is above the water-line.
How long is the pole?

4

Level 4

Use eight 8s and as many mathematical
symbols as you like to make a number
sentence with an answer of 1000.






